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Factoring Review - sheef 9
Do all work in the space provided.

1. Common factor each of the following.

a) 25xy + 15x° b) 12m?n - 8mn + 20mn?
¢) 25x° + 10x? - 35x* d) 7rst - 14r°s%t

e) 9a’b? - 15a%7 + 6a’*b? - 21a®b* - 30a°b°

2. Trinomial factor each f the following.

a) m® + 5m + 6 b) y? + 13yz + 427° c) x* +8x% - 20
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3. Trinomial factor each of the following.

a) 2x% - 1lx + 12
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d) 2x? + x - 15
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4, Factor using a difference of squares.

a) 144x% -9

(12x -1z xr3)

d) (x + 8)2 - 64
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5. Factor completely.

0) 3x% + 24x + 21
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b) 25y° - 81 ) 49y? - 4x° g
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d) 12x% - 27x ¢
e) 9x° - 36x - 45 ) 2bx% + 30bx - 108b
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m) 16x% - 1
n) 9x% + 12xy + 4y% - (x + 2y)?
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